JIE2AQ,

0,9)5,4

@ 54 +90 @ 540 +0.9

® 54+9

3 540 =9

@ 54 =9



& % UeAle] ol A A AL ol AAUA

® 2754 +8.5 ® 27.54+0.85 ® 2.754+8.5

@ 092754 -85 ®3 2754 = 0.85



3.

5.6 = 0.8 T LA 9]

© 4907

@ 78-13

Sl gy

EZ] (l?o

@ 21+03

3 126 =118



0.036 +~ 0.12

D 0.36 +12 @ 3.6=12 @ 36+ 12

@ 0.36 = 0.12 ® 0.036 = 0.012




5.

o3 Al o] datalo g2 dghe 712 o] Z112] AI2AQ,

D 41x4+3=16.7 ® 41x3+4=16.7
® 41x4+03=16.7 @ 4.1x340.03=16.7

B 41%x04+03=16.7



@ 46 7}

@ 477}

® 48 7}

@ 49 7}

3 5078



7. o F el 10 Hok 2 A2 ol AdY7R

® 20.3+29 @ 3.44-0.43 ® 17.29+1.9

@ 92754 =~ 0927 3 20=925



il

6.9+02=234--

® 0.01

@ 0.1

D1

3 0.0001

@ 0.001



9. 2964 & °oH & ol K& &5 FA4 A7 FeHlEY ol
4.78 o111, Uo7} 0.004 o] AHF U olE & dupelz] 1514
Q.

@D 5.8 @ 6.2 ® 6.24 @ 6.5 ® 6.64



10. 9] gho] 1 Bk AL 2 ol A7

@ 3458 + A =2.66 @ 6744~ A =562
® 38.34+na =426 @ 25.568 + A = T7.52

B 575=-A=125



